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3,500& =1,9000H 6,650
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202 oddl 5,000 5,500 A 500
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QIO 5,000
308 MXIEHSOIH 10,975 1,850 9,125
11 32SoHUHSI S HAE ALS HI 10,975 1,850 9,125
OXNHUH=UEEANAE 28 UXNSHEES
=22 10,975
IIEZAHESEMEME ZHIXE 30,603 35,022 A4,419
= 30,603
101 @124l 18,362 22,010 A 3,648
= 18,362
04 D12t 22 HEE = 18,362 22,010 A 3,648
OJIEZHEEANRHEH BEX R 18,362
= 18,362
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= 5,686
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= 5,686
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201 Let24d] 9,000 9,010 A 10
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Ooizzel RFA(EULAMREESS) 4,900
= 4,900
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= 2,500
OUALY X 2= (AotEH])
200,000& x4H +23| 1,600
= 1,600
202 4Hl 1,000 1,000 0
= 1,000
01 = LHA YI 1,000 1,000 0
Oz gRF2 1,000
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=228 oS K& 113,572 164,393 250,821
308 XXM SO A 113,572 106,893 6,679
08 WHII20HSHE X 113,572 106,893 6,679
OJ0E WA 12l X& 90,900
OZUMEHdH 29 bl X& 10,000
OGO MEHH LM 2 XA 12,672
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308 XtXIEHH SOl A 52,632 52,632 0
08 WISt E=x 52,632 52,632 0
OXZntsen gast=s gAld X&
1,800 *86H »3404! 52,632
Jl=giw SAXNA(EX) 47,000 55,000 A 8,000
< 14,100
[ 32,900
308 XXM SOl A 47,000 55,000 A 8,000
< 14,100
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08 WEII20HStE = 47,000 55,000 A8,000
OJI=&01 XNIAZ(II=A S4H XH) 47,000
< 14,100
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= 45,000
< 13,500
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e 31,500
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= 10,500
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SN EE B (BH) - HRAY - BES e Hl D= 2t
== 21,000
s 31,500
12 JIEtEA S 52,500 52,500 0
O d=stsdH 2 52,500
< 21,000
[ia 31,500
HE2IAZH (HEXJA D) 12,471,571 11,330,682 1,140,889
el 2 12,394,931 11,253,882 1,141,049
THEHESY R XA 81,384 76,896 4,488
203 YR =&l 81,384 76,896 4,488
01 JI122E =4 57,500 56,000 1,500
Ooz= 57,500
02 AP 2= 23,884 20,896 2,988
ozZ= 23,884
dMa0z 2,200,000 2,050,000 150,000
303 L& 3 2,200,000 2,050,000 150,000
02 dta0i= ,200,000 2,050,000 150,000
O&U&NHS ,200,000
SHOIAHIN ¢HE2H ,644,489 8,110,620 533,869
04 ASRESS ,509,384 8,008,275 501,109
01 H3RE= ,966,501 6,676,423 290,078
Oz 2E3 45,297,892,000& *9% 4,076,811
OEdZ 45,297,892,000& *3.076% ,393,364
O&l & ="g 253 45,297,892,000& %3.1373% ,421,131
OM24s 253 45,297,892,000& *0. 166% 75,195
02 SCALEES ,542,883 1,331,852 211,031
OIALEE S 40,800,000,000& *3.43% ,399,440
OEINRLEES 2,798,880,000& 5. 125% 143,443
307 2Iz2t0l & 135,105 102,345 32,760
07 A3 XN=3 135,105 102,345 32,760
OBR8 2 BRANS AYEXAS
3,503,500& x30H 105,105
O22& M= 10,000, 000& »3H 30,000
A A2 1,469,058 1,016,366 452,692
101 @124 dl 1,140,060 753,500 386,560
03 RIAHAZZ2TE = 1,140,060 753,500 386,560
O3z 23 6,460,000,000& *4.5% 290,700
ClL=s=2gzs RE3 8,560,000,000& *1.65% 141,240
Outd Mol 28 s 23
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OEI&Z3 63,000,000+ 10 630,000
04 HSRESS 328,998 262,866 66,132
02 2AHZ2E S 328,998 262,866 66,132
OI3ALBEE S 8,700,000,000& *3.43% 298,410
OFILEES 596,820,000& *5. 125% 30,588
|23 bl 76,640 76,800 A 160
XA Jl=3Hl 76,640 76,800 A 160
201 LBr2d| 30,240 32,400 22,160
01 At 22l 30,240 32,400 A2,160
OZH 0o &t 24,192,000& 14 24,192
O= &l S0l st 6,048,000& 14 6,048
202 Odl 35,640 38,400 22,760
01 =2 LHA YI 35,640 38,400 22,760
OZ W0l &t 35,640,000& 14 35,640
203 R =&t 10,760 6,000 4,760
01 71228 YR =2 5,000 0 5,000
OdHFZsa =% 5,000,000& 14 5,000
04 FEANSEHE=LH 5,760 6,000 A 240
OHFXNJAW BN2 480,000& x12& 5,760
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